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Start 

Assign nodes with random id and broadcast its ID. 
Develop neighborhood table for each node.  

Compare the nodes and select node with highest 
weight to become (CH) 

Elected CH will broadcast the message “I am the CH “ 

SCH election 
(node with next highest weight )  

Member nodes joining with in the range of one hop 
distance will unicast the message “I am the member “to 
CH  

 

Nodes will sense the data and  send the data to CH on 
the basis of TDMA 

If node receives 
broadcast 
messages from
more than CH  

It becomes Gate way node (GWN) and 
sends multicast messages to 
Corresponding CH 

CH maintains the member list 
(member id, role ( ordinary 
/gateway/SCH/other CH) ) 

CH aggregates the data and initiates the AODV protocol   

Using RREQ and RREP message search for a BS 
through a gateway 

Gateway node forward data to Base Station 

Stop  

Compute weight for each node and broadcast member 
ID and weight value 
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